Colour—difference formula LABIND 1985 only for achromatic colours

DE o =DEgs=Ag [ (A V)’ + (AgA aY)* + (A, AbY)T/ (AL + A,.Y)
a =x/ly b=-04zly

Y =(Y;+Y,)/2 AY=Y;-Y, Aa=a-a Ab=b;-h,
A;=0,0170 A=0,0058

A;=10 A=18 A=15 background D65

A;=10 A=17 A=10 backgroundA

Just noticeable difference (JND) in three colour directions and line element

Ay-AY = (A +AY) in luminance directioWVN
Ag-Aa-AzY =(Aj+AY) in chromaticity directioRG
Ag-Ab-ALY = (A1 +AY) in chromaticity directiorY B

dE*ss,ngavL*85:567[(Ao [A)In(Ap+ A Y)] =Ag-dY/ (A + AyY)
dE*ss,azsaga*ss =5%[(A0-A3-Y-a) [(A+ A Y)]=Ag-da-AgY T (A + AyY)

dE*ss,bzg%b*ss =565[(A0'A4'Y' b) / (Ap+ Ay Y)]=Ag-db-Ay Y/ (AL +AyY)
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